Ifa + bi = (1 + 2i)(3 — 4i), where a and b are con- If a+bi= da i, where a and b are constants and
stants and i =+/—1, what is the value of @ + b? 2—1

i =+/—1, what is the value of @?

For what value of b does (b + i)? = 80 + 18i? The solutions of the equation x* — 2x + 15 = 0 are

x=a+ivb and x=a —ivb, where a and b are
positive numbers. What is the value of @ + b?
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Given that i=+/—1, which of the following is equal

to 1 _,
(1+i)?
A) l_lj
2 2
B _1;
2
C) _];;'
2
D) _]L+lj
2 2

If B(3 + i) =3 — i, what is the value of B?
A) §+ii
2 3
B) E.}.E}.I’
Q) g_ii
S §
D) iﬁég
5 B
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Which of the following expressions is equal to
2 + 2i)2

A) 0

B) 4i

C} 8i

D) 4-—4i

x4+ kx=—6
If one of the solutions to the equation above is
x=1- iv’g, what is the value of k?
A) —4
B) -2
C) 2
D) 4

20f3



[f i™ = —i, which of the following CANNOT be the
value of m?

A) 15
B) 18
C) 19
D) 27
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